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 W.W.F 

                                             2m 4410 

                                                    2m 694.4 

                                    2m240 

                               2m607 

                                                    2m306 

                                              2m234 

                           2m397.5 

                                        2m207 

         h 0.229                                              2m2289.4 

               h 0.04                                           2m397.5 

               h 0.172                                      2m1723.1 

 h 0.03         2m306 
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+Iavg =
𝐴𝑖 𝑥 𝐼+𝐴2 𝑥 𝐼2+𝐴3 𝑥 𝐼3+𝐴4 𝑥 𝐼4

∑ 𝐴
=

0.229∗0.9+0.04∗0.95+0.03∗0.15+0.172∗0.8

0.229+0.04+0.03+0.172
= 0.79

1

 

𝑄 =
𝐴 𝑥 𝑅 𝑥 𝐼

360
=

0.441 ∗ 33 ∗ 0.79

360
= 0.032𝑚3/𝑠𝑒𝑐 

𝑄𝑇𝑜𝑡𝑎𝑙 = 0.032 + 0.0015 = 0.0334𝑚3/𝑠𝑒𝑐

                                                           
1 LINK 

(c) ketabton.com: The Digital Library



Get more e-books from www.ketabton.com
Ketabton.com: The Digital Library


